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Sr Questions Answers Choice

1 The bonding between the semi-conductor materials is
A. covalent
B. ionic
C. either of them
D. none of them

2 Semi-conductor elements have atoms with
A. 2 valence electrons
B. 3 valence electrons
C. 4 valence electrons
D. 5 valence electrons

3 The doped semi-conductor materials are known as
A. intrinsic semi-conductor
B. extrinsic semi-conductor
C. either of them
D. none of them

4 In the doping process, the ratio of the doping atoms to the semi conductor atom is
A. 1 to 10
B. 1 to 10<sup>3</sup>
C. 1 to 10<sup>6</sup>
D. 1 to 10<sup>9</sup>

5 When small number of atoms from some other suitable element is added to the semi-
conductor material, then this process is known as

A. impurification
B. adding
C. doping
D. extrinsivity

6 Which type of wave can be set up in solids
A. longitudinal waves
B. transverse waves
C. both of them
D. none of them

7 The waves in which the particles of the medium have displacement along the direction of
propagation of waves are called

A. longitudinal waves
B. transverse waves
C. non-mechanical waves
D. none of them

8 The waves in which the particles of the medium are displaced in a direction perpendicular
to the direction of propagation of waves are known as

A. longitudinal waves
B. transverse waves
C. non-mechanical waves
D. none of them

9 Example of progressive wave is
A. transverse waves
B. longitudinal waves
C. both of them
D. none of them

10 A wave, which transfer energy by moving away from the source of disturbance is called a
A. progressive wave
B. travelling wave
C. both of them
D. none of them

11 In case of mechanical waves, we study the motion of
A. a single particle
B. collection of particle
C. any one of them
D. none of them

12 The example of mechanical wave is
A. waves in ropes
B. waves on water surface
C. waves in air
D. all of them

13 The waves which propagate out in space due to oscillation of electric and magnetic fields
are known as

A. e.m. waves
B. mechanical waves
C. sound waves
D. water waves

14 The waves which propagate by the collision of material particles are known as

A. e.m. waves

B. mechanical waves
C. light waves
D. microwaves

15 Wave disturbances may also come in a concentrated bundle, like shock wave from an
aeroplane flying at

A. subsonic speed
B. sonic speed
C. super sonic speed
D. any one of them



16 Waves transport energy
A. without transport energy
B. with matter
C. both of them
D. none of them

17 A weakly damped system has fairly
A. sharp resonance curve
B. flat resonance curve
C. both of them
D. none of them

18 A heavily damped system has a fairly
A. sharp resonance curve
B. flat resonance curve
C. both of them
D. none of them

19 Smaller the damping, the resonance will be
A. more flat
B. more sharp
C. both of them
D. none of them

20 Smaller the damping, greater will be the
A. frequency
B. wavelength
C. amplitude
D. none of them

21 The damping depends upon the
A. amplitude
B. sharpness
C. both of them
D. none of them

22 The resonance will be sharp, if the amplitude decreases rapidly at a frequency

A. equal to the resonant frequency
B. slight different from the resonant
frequency
C. greatly different from the resonant
frequency
D. any one of them

23 In the resonance condition, the amplitude of the oscillator becomes
A. very large
B. very small
C. zero
D. any one of them

24 Shock absorber of the car is an example of
A. resonance
B. forced oscillations
C. interference
D. damped oscillations

25 The process in which energy is dissipated from the oscillating system is known as
A. resonance
B. interference
C. diffraction
D. damping

26 As the bob of the pendulum moves to and fro which of the force is experienced by the bob
A. its weight
B. tension in the string
C. viscous drag force by air
D. all of them

27 While describing the motion of a simple pendulum, the frictional effects are
A. taken into account
B. completely ignored
C. partially ignored
D. none of them

28 Such oscillations in which the amplitude decreases steadily with time, are called
A. resonance
B. force oscillations
C. large oscillations
D. damped oscillations

29 The waves produced in a microwave oven have wavelength.
A. 12 mm
B. 12 cm
C. 12 m
D. 12 mm

30 The waves produced in a microwave oven have frequency

A. 2450 Hz
B. 2450 K Hz
C. 2450 M Hz
D. 2450 G Hz

31 A swing has
A. one natural frequency
B. two natural frequencies
C. three natural frequencies
D. four natural frequencies

32 Which one of the following is an example of resonance
A. swing
B. tuning a radio
C. microwave oven
D. all of them

A. greater than the frequency of



33 Resonance occurs when one of the natural frequencies of vibration of the forced or driven
harmonic oscillator

A. greater than the frequency of
applied force
B. equal to the frequency of applied
force
C. less than the frequency of applied
force
D. all of them

34 At 'resonance' the transfer of energy from deriving source to the oscillator is
A. maximum
B. minimum
C. zero
D. none of them

35 In a resonance situation the amplitude of the motion may become extra ordinarily large, if
A. the driving force is large
B. the driving force is zero
C. the driving force may be feeble
D. all of them

36 If the external driving force is periodic with a period compareable to the natural period of
the oscillator, then we get

A. diffraction
B. beat
C. interference
D. resonance

37 Associated with the motion of a driven harmonic oscillator, there is a very striking
phenomenon, know as

A. waves
B. beat
C. interference
D. resonance

38 The vibrations of factory floor caused by the running of heavy machinery is an example of
A. free vibration
B. natural vibrations
C. forced vibrations
D. all of them

39 A physical system under going forced vibrations is known as
A. Simple harmonic oscillator
B. Compound harmonic oscillator
C. Physical harmonic oscillator
D. driven harmonic oscillator

40 In a transistor, if the central region is p-type then this type of transistor is known as
A. p-n-p transistor
B. n-p-n transistor
C. either of these
D. none of these

41 Which of the following diodes can operate in the reverse biased condition
A. photo diode
B. light emitting diode
C. photo voltaic cell
D. none of these

42 Which of the following diode is used to derive the current in external circuit when light is
incident in the circuit

A. photo diode
B. light emitting diode
C. photo voltaic cell
D. none of these

43 F = I(L x B) is a
A. vector
B. scalar
C. unit vector
D. none of these

44 The gavanometer constant of a moving coil galvanometer is given by
A. K=BAN/C
B. K=BN/CA
C. K=NAC/B
D. K=C/BAN

45 When the waveform of one voltage is increasing and that of second is decreasing and vice
versa, then phase difference between these voltage is

A. 90<span style="color: rgb(84, 84,

84); font-family: arial, sans-serif; font-
size: small;">°</span>
B. 75<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
C. 0<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
D. 180<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>

46 The CRO is used for displaying the waveform of a given
A. current
B. voltage
C. both of them
D. none of them

47 The voltage increases linearly with
A. time
B. velocity
C. acceleration
D. torque

48 How many number of anodes used in electron gun
A. one
B. two
C. three
D. six



D. six

49 If a nucleus emits an alpha particle, its mass number decreases by 4 while charge number
decreased by

A. -4
B. 4
C. 2
D. 1

50 Albert Einstein got the Nobel prize in physics for his explanation of photoelectric effect in
A. 1916
B. 1919
C. 1921
D. 1923

51 The liquid which conduct current is known as
A. heating effect
B. chemical energy
C. electrolyte
D. ohm's law

52 A carnot cycle consists of
A. One step
B. two step
C. three steps
D. four steps

53 The application of Bernoulli's equation is
A. Torricelli's theorem
B. Venture relation
C. Binomial theorem
D. Both a and b

54 Bernoulli's equation is important in the field of
A. Electrical circuit
B. Magnetism
C. Photoelectric effect
D. Flow of fluids

55 Bernoulli's equation is based upon law of conservation
A. Mass
B. Momentum
C. Energy
D. None of these

56 With increase of temperature, the viscosity of liquid and gases

A. Increases for both
B. Decreases for both
C. Increases for liquids and decreases
for gases
D. Decreases for liquids and
increases for gases

57 The velocity of falling raindrop attains limited value because of
A. Up trust of air
B. Viscous force exerted by air
C. Surface tension effect
D. Air currents atmosphere

58 The SI unit of viscosity is

A. kg m<sup>-1</sup>s<sup>-
1</sup>
B. kg ms<sup>-1</sup>
C. kg m<sup>-1</sup>s<sup>-
2</sup>
D. kg m<sup>-1</sup>s

59 Matter is made up of very tiny particles called
A. Atoms
B. Molecules
C. Ions
D. None of these

60 A fluid at a certain point has 50 J of potential energy per unit volume, 75 J of kinetic energy
per unit volume,and 35 J of pressure energy per unit volume. the total energy of the fluid is

A. 125 J
B. 90 J
C. 160 J
D. 85 J

61
The equation of continuity
A1V1= A2V2is for the flow of

A. an ideal fluid
B. an incompressible fluid
C. a non visconcous fluid
D. all of the above

62 What is another name for laminar flow?
A. streamline
B. unsteady flow
C. turbulent flow
D. both (a) and (b)

63 Blood pressure is measured in torr. Which of the following units could belong to torr?
A. N m<sup>-1</sup>
B. N m<sup>-2</sup>
C. N m
D. N<sup>-1</sup>m<sup>-2</sup>

64 Fluids have three types of energies. The Bernoulli's equation combines those
energies.which of the following is one of the three enrgies possessed by a fluid?

A. potential energy
B. pressure energy
C. strain energy
D. (a) and (b) only

65 The flow of an ideal fluid is
A. streamline flow
B. incompressible flow
C. non-viscous
D. all of the above



D. all of the above

66 Which of the following is a characteristic of an ideal fluid?
A. it is non-viscous
B. it is incompressible
C. it's motion is steady
D. all of the above

67 The value for systolic blood pressure for a normal healthy person is
A. 140 torr
B. 80 torr
C. 90 torr
D. 120 torr

68 Which of the following options correctly states the equation of continuity for an ideal fluid?

A. A<sub>1</sub>A<sub>2</sub>=
V<sub>1</sub>V<sub>2</sub>
B. A<sub>1</sub>/A<sub>2</sub>=
V<sub>2</sub>/V<sub>1</sub>
C. A<sub>1</sub>/A<sub>2</sub>=
V<sub>1</sub>/V<sub>2</sub>
D. none of the above

69 Which of the following has the greatest coefficient of viscosity?
A. water
B. gasoline
C. honey
D. tar

70 What are the SI base units of the coefficient of viscosity

A. Kg m s<sup>-2</sup>
B. kgm<sup>2</sup> s<sup>-2</sup>
C. Kg m s<sup>-1</sup>
D. kg m<sup>-1</sup>s<sup>-
1</sup>

71 Which of the following options states the names of fluids in the order of increasing
viscosity?

A. mercury, motor oil, methanol
B. methanol, mercury, motor oil
C. motor oil, mercury, methanol
D. methanol, motor oil, mercury

72 Viscosity is defined as

A. the friction between fluid and its
container's walls
B. the internal friction between two
layers of fluid
C. the resistance to flow a fluid
experiences
D. the extent to which outside factors
effect the fluid's flow

73 Bernoulli's equation is applicable for
A. turbulent flow
B. streamline flow

C. both (a) and (b)
D. all kinds of flows

74 The value of viscosity of a fluid is dependent on (at constant temperature)

A. the fluid itself
B. the fluid and its container
C. anything in contact with the fluid
D. all of the above

75 Fluid A is more viscous than fluid B. While flowing through a pipe of the same dimensions
and material which fluid takes longer to travel at 25°C?

A. fluid B
B. fluid A
C. both take the same time
D. not possible to determine from
given information

76 The instrument which detects the instant at which external pressure becomes equal to the
systolic pressure is

A. stethoscope
B. thermometer
C. manometer
D. barometer

77 According to the Bernoulli's theorem the pressure velocity are
A. equal to each other
B. proportional to each other
C. inversely proportional to each other
D. none of them

78 The blood pressure of a person
A. decrease with age
B. increase with age
C. has no effect with age
D. none of them

79 Blood pressure is measured by the instrument
A. stethoscope
B. sphygmomanometer
C. barometer
D. none of them

80 One torr is equal to
A. 13.33 N/m<sup>2</sup>
B. 760 N/m<sup>2</sup>
C. 760 mm Hg
D. 133.3 N/m<sup>2</sup>

81 In a normal healthy person the value of diastolic pressure is
A. 75 - 80 torr
B. 100 torr
C. 120 torr
D. none of them



D. none of them

82 In a normal healthy person the value of systolic pressure is
A. 75 torr
B. 80 torr
C. 120 torr
D. all of them

83 The time of flight of a projectile motion equal to

A. half of the time to reach maximum
height
B. twice the time to reach maximum
height
C. one fourth of time to reach
maximum height
D. time to reach maximum height

84 For maximum linear distance of travel, a projectile must be fired at an angle of

A. 0<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
B. 45<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
C. 90<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
D. 60<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>

85 The velocity of a projectile is maximum
A. at the point of projection
B. just before striking the ground
C. at none of them
D. at both of them

86 The vertical and horizontal range will be equal id angle of projection is

A. 76<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
B. 45<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>

C. 60<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
D. 120<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>

87 The projectile attains maximum horizontal range when it is projected at an angle of

A. 30<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
B. 45<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
C. 60<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
D. 75<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>

88 The horizontal range of projectile, at a certain place, depends upon

A. the mass of the projectile
B. velocity of projection
C. angle of projection
D. angle as well as velocity of
projection

89
A particle of mass 0.5 g moving along x-axis is located of x1= 15 m at t1= 5s and x2= 33 m
at t2= 13s its average velocity is

A. 6 m s<sup>-1</sup>
B. 2.45 m s<sup>-1</sup>
C. 2.25 m s<sup>-1</sup>
D. 4.45 m s<sup>-1</sup>

90 The horizontal component of a projectile moving with initial velocity of 500 ms-1at an angle
60° to x-axis is

A. 500 ms<sup>-1</sup>
B. 1000 ms<sup>-1</sup>
C. 250 ms<sup>-1</sup>
D. Zero

91 The vertical component of velocity of a projectile during its motion is minimum

A. at the time of projection
B. at the highest point
C. just before hitting the plane of
projection
D. all of them

92 During the projectile motion, the horizontal component of velocity
A. changes with time
B. remains constant
C. becomes zero
D. decreases with time

93 The projectile motion is composed of
A. horizontal motion only
B. vertical motion only
C. horizontal and vertical motion
D. none of them



D. none of them

94 The path (or trajectory) described by a projectile is
A. a parabola
B. a hyperbola
C. a circle
D. a straight line

95 The path described by a projectile is called its
A. orbit
B. trajectory
C. range
D. distance

96 Which of the following is not a projectile
A. a bullet fired from a gun
B. a space ship
C. a football in air
D. an artillery shell

97 An object thrown upward with an initial velocity at certain angle with the horizontal and
moving freely under the action of gravity is called

A. a rocket
B. an aeroplane
C. a projectile
D. a ballon

98 Distance covered by a freely falling body in 2 sec will be
A. 4.9 m
B. 19.6 m
C. 29.2 m
D. 44.1 m

99 The artillery shells travel along parabolic paths under the influence of
A. magnetic field
B. electric field
C. electromagnetic field
D. gravitational field

100 An object thrown in arbitrary direction in space with an initial velocity and moving freely
under gravity will follow

A. a circular path
B. a straight line
C. a hyperbola
D. a parabola


